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Review Guide - Solutions KQL@/B/
. How does a homogenous mixture differ from a heterogeneous ixture?

sone A CAS - = Ai(Fevent o ‘Jif‘m\i
eterogeneous ml res, and how do they differ? )
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. For each\ﬁ\ow gentlfy as a suspension, colloid, or solution.
a) sugar water % \UC\'\ Q.
b) oil and water<_{ xS0\ 2\ O
) milk (¢ \\@.\"’ A
d) Kool-Ald < | ‘S\‘\L\
L |
e) Low pulp orange juice C(..\\C \(\

. In solutions the substance that dissolves is called the .
is called the 4"\ © v

. A solution where water is the solvent is called ( Li ;i‘g \ZCRA S'and if alcohol is the solvent it is
calleda:“n(-_j:!ug .

. Identify the solute and solvent for each be
a) saltwater “OO\UNE. = SO \3(— <O S = e e
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. Define the following £

2) misciblebc\ (3%5(\\ iC\\r W
) immiscible \ ¢ N\C JC

c) saturated (7= V‘\,\t_\é \~ ag\t”f e C\(c J(_‘\\,\(ﬁ(\ ag ,%Da b\ &
d) unsaturated nve. Sl e (oo <l QLSeo\U
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Use the following graph to answer # 9 and 10.
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9. Which of the following statements is/are correct?

I. The solute is most likely a gas \f—/\\ L0



II. At 30°C, the solubility is about 54g / 50g of water
III. Based on the sugar’s solubility, sugar molecules are polar

a. [only

b Iand II

¢. TMand I e
—All are correct

10. A sugar solution is made by dissolving 100g of sugar in 100g of water at 30°C. Which statement is
correct? :
a) The solution is supersaturated
b) The solution is saturated
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11. L1st all factors (3) that 1 mcrease e rate at which a solid solute dissolves in a liquid.
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12. HOW does tempe c solublh ofa solid in a Ilqul
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13. How\ﬁoes' 1empera!ur) aﬁ'ect the solubility of a gas in a liquid?
l( ‘ ot X
14. PI‘e(SSI\Il'g gﬁ'cctg th(e\ ublhty of , YO (’" - the higher the pressure the(:.f‘( O( Ll"\f(,,i
the solubility. J’ S

15. What is meant by the phrasc “hk\e dissolves like™? | olowy (U‘;_‘)( \U 00 W R lay
¥ SO\U
é\t i \& A £s§oivegm\w%e§ but rgot’;n carbokl tetrac lxde Wlnch of the following is true?
a) A is non-polar and carbon tetrachloride is polar
b) A s polar and carbon tetrachloride is polar
¢) A is non-polar and carbon tetrachloride is non- I
@ is polar and carbon tetrachloride is non—polar

17. Solutions that conduct electricity are called C\ e m \I \—f; '3

18. List the three cquanlons for measuring concentrations of soluuons
M = Mg B e - oleSsdute  pwasg muR«?\@
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19. A solution is mixed by adding 5.75g of N1C12 to water to form 500mL of solution. Calculate the
concentration in molanty

20. What mass of KOH s dissolved in 20mL of a 2.0M solution? 5119

Moles =MxL  2.oMx .0 2oL =.0Hmol  O4we! xi— twiol
i 8 What 1s the %o concentration of a so itioa-fermed by dissolving 35g of ethanol in 300g
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22. ﬁat mass)of water mus(t_ be ad Ogof LiOH in order to form a 5.0% solutxon‘)
5010 =NAS SANE (00 .06 = MOSS Salil
2 VOSS e\ URO e Rt

\\j\/ 5 oS Slubion = Z,g i L{‘{Jq V0SS ¥ 0 = 109 DUNC

LO0< G

Lk




73. A student wants to make a 0.250 M solution of AgNOs. If they start with 15.5¢g of silver nitrate, what
will be the volume of the solution? | .
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24. What mass of ca‘ﬁ%lum sul}ate is dlssolved u}‘aiOrr_lL oy,\s oM solutmn
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\ ¥ o\ %Lﬂ \ Z
22 A solgnon%%\&aOh has a conceptrmtfoh of 2 - -
s the volumc 0 the soluﬁon" ol € ‘ 41% o)
leod 24 ~wole? | ZHTmY

S5 M
26. The Dead Sea is the saluest sea m the world. It contains 332g of NaCl per 1{)0011’11 (1000{;) of water.
) | 2 \ @ )

What is the concentration in M, m, ¢ and %o?
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27. Calcufate the % co position of 2’50 t contains A5 ot HCI dissolved
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28. How many grain_s_gf_\y_gtgr must be used to dxssolve 50% of NaCl to form a 2V jon? . i dae
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29. What is the molahty ofa solﬂ &%‘c contams 75g — dissolved in 500g of water’
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30. How man)')grams of Mg() must ge dlssolvéd in 500g of water to form 2 0.50 m solution?
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